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Instructions for Candidates

Write your Roll No. on the top immediately on receipt of this question paper.

2. All questions within each section are to be answered in a continuous manner on
the answer sheet. Start each question on a new page and all subparts of a
question should follow one after the other.

3. Use of simple calculator is permitted.

4. Required statistical tables are attached with this question paper.

5. This paper contains four sections. Attempt all sections.

6. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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Section I
Q1 is compulsory. Attempt any one From Q2 and Q3.

amr I

93 G 1 Afad 2
&= v wza W 2 3R 3 & B SRl

(a) A confectionary shop sells three types of candies priced at Rs 3.00, Rs 3.20,
and Rs 3.40 per piece, respectively. Let X . X, and X , denote the number
of these candies sold on a particular day. Suppose the X,’s are independent
with p, p, and p, equal to 1000, 500 and 300, respectively and ¢, o, and
o, equal to 100, 80 and 50, respectively.

(1) What is the expected daily revenue of the shop from the sale of these
candies?

(i) Calculate the standard deviation of the revenue from the sale of these
candies.

(i) Would your answers be correct if the X.’s were not independent?
Explain. 4)

(b) For the following sample data on variables x and y:

X | 112.3197.0 | 92.7| 86.0 {102.0199.2 | 95.8]103.5| 89.0{86.7

Y |75.0 | 71.0 | 57.7| 48.7 |74.3 {73.3 | 68.0]59.3 | 57.8|48.5

(i) Obtain the equation of the least squares line and interpret its slope.

(i) Calculate and interpret the coefficient of determination. {6)

(%) v fiow At g O v 3 fioreal S @ R 1w wam: 300 ©, 3.20 %,
T 3.40 T W W 8 W R X X, ARX el Riftee, Rer 30 ot sl o
F A A B AR X, DA, p, AR, A e E 7E w9 1000, 500
T 300 @ WK ¥ ¥ 0, 0, o, FAM 100, 80 TF 50 B T F
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(i) = Foral A ik @ gFm A sepnfa W s w27
(i) = frorza &t el ¥ B Tt I wFE fageT @ R Fif
(i) AR X W A AT A B W W D IR G B R i

(M) x vy @ W g P e e & R

X | 112.3}1 97.0 | 92.7 | 86.0 | 102.0{99.2 | 95.8103.5|89.0|86.7

Y | 75.0 | 71.0 | 57.7 [ 48.7 | 74.3 |73.3 | 68.0{59.3 | 57.8(48.5

(i) least squares line T TIFT A HT T IR T it AR Tl

(ii) Freifor TuneE w1 Rae g ga IaE = i

2. (a) The time take by a randomly selected student to fill a form has a normal
distribution with mean value 10 min and standard deviation 2 min. If five
students fill a form on one day and six on another day, what is the probability
that the sample average amount of time taken on each day is at most 11min?

)

{(b) For the following summary statistics:
n=15 > x =1640.1, Dy, =2998, > x =179,849.73

> y! =6430.06, D xy,=32,308.59

(i) Obtain the equation of the estimated regression line of y on x.
{ii) Use the estimated line used to predict y when x is 135.
(iii) Calculate and interpret a point estimate of G.
(iv) What are the values of SSE and SST?

(v) What proportion of observed variation in y can be attributed to the
approximate linear relationship between x and y? (10)

PTO.
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F) ugRes w1 W@ e W ol aw v weE @ s ¥ R @ 10 fee
F WA A @ 2 BT & S e D 9T TR seT @ wefdi e 1 Ak
T foT Wi B y9F W ¥ vd @ R 5 o waa v € @, wag v ¥ whke
for Tt THE it wided stag W st 1 fae B & wlRear @ 27

(@) Fffae awfiga des & fow
n=15, zxi =1640.1, Zy‘. =299.8, fo =179,849.73
2.y =6430.06, ) x,=32,308.59
(i) x W y =t FPiHa SHI=/[e @1 &0 giewe ad FShi

(i) y =1 7 @ @ fore spia Y o IwEn R 9@ 7 x o ae
135 21

(iii) o = fiy wwa =1 WReaw NN & =wem SR

(iv) SSEw@ SST & = =1 27

(v) y ¥ W oo & e su Y x @@ y & 9 e Paw ey @
forg ter sear o 9 27 )

3. {(a) A College has three administrative departments each having two employees.
Information regarding their monthly salaries (thousands of Rs) is as follows:

Department 1 | 2 2 3 3
Employee 1 2 3 4 5 6
Salary 30 34 | 28 32 42 22

Suppose one of the three departments is randomly selected. Let X ,and X,
denote the salaries of the two employees. Determine the sampling dlstrlbutlon

of X. Where is this distribution centered? 5)

(b) Following summary statistics are given to explain the relationship between y
and x:



7563 5

X x; =659, 2% = 28967.50,% = 36.6111,5__ = 4840.7778,

By = —0.2976,8, = 27.183,  SSE = 131.2402,
r2 =0.766, s = 2.8640

Calculate a prediction interval for y with a prediction level of 95% when x
is 45. )

{c) Show that the "point of averages" (f,i) iies on the estimated regression
line. )

{F) & T A A7 el fm € e A vl § @ R &) 39wl 3
(F9R &9t A) B T A WAL 59 TER e

s 1 1 2 2 3 1 3
AR | 2 3 4 1 5 6
ERGS { 30 34 128 1 32 1 42 22

A R AT A o e @ afew w0 @ e e s 30w B X iR

X, A wHaREl & 39 A Wq wQ T X D oy ser A Pl hm ae
Fe el disd 27

@) yw@ x @ 949 g9 A e w0 @ g Al o e Ry ww &
T x, = 659,% x2 = 28,967.50,% = 36.6111,5_, = 4840.7778,

Y yi=2932, ) xy =929395, ) y? =533576,

B, = —0.2976,B, = 27.183,  SSE = 131.2402,
2=0.766, s = 28640

PTO.
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95% & W 'R D A A D forg Wi SteRier @1 qReberT g Sk x @6
AT 45

weffia Mikm & “shea g (point of averages) (5:' y) FTHE wmsE @
(regression line) W rafyd g

SECTION 11
ATTEMPT ALL QUESTIONS

awr 11
it wsA Al Al B Fifse

Explain properties of a good estimator. Consider a random sample
(X,,X,,X,...X,) from a population from a probability distribution function

f(x; @) If Expected value of an estimator § is equal to (n/n+1)* 9, what
is the bias of this estimator? Find an estimator that is unbiased. (3+2)

Consider a random sample (X,:X,,X,...X ) from a population from a
probability distribution function

f(x; @)= 0.5(1 +x*g). Where -1 < x < 1.

(1) Show that § = 3*sample mean is an unbiased estimator for G.

(ii) If a sample size is 3 and the sample is (-1, 0, 2) give point estimate

for 9. (4+1)

Let (x, x,...... x ) be a random sample from a population with mean p and

. C =X .
standard deviation ¢. Show that S? =ZL— is unbiased estimator of
n_.

population variance, denoted by o

®)

From a survey of 500 families, 340 were reported to like Star Plus channel.



7563

(e)
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)
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Find a 90% confidence interval for the proportion of families that like Star
Plus channel. What is the required sample size if we want to be 95%
confident that our estimate of the proportion of families that like Star plus
channel is within 0.02 of the true proportion? (5)

Let X be a continuous random variable that is uniformly distributed over {0,
A). Find the moment estimator of A. (3+2)

IS WEFHAS D TN S AR FHforg1 Wil o v (x; 9) ¥ v e
& avfes waed (X X, X,...X, ) ® AR SIfr) ot wereas § @ snfea

AT (n/n+l)* g & T9FA 8, T 3@ WEwad R I 27 v wasdsw s
o W AT 2

T e @ aghed whew (XX, X,...X ) W R fiw e e
faeor %ol 39 YER 2

f(x; @)= 0.5(1 +x*g). Wsf -1 <x < 1.
(i) weffiq R & §=3* wlied W g @ fom RFT waras 2

(i) o wfiest SR .3 ? vd wfaed (-1, 0,2) , @ g & fog &g sva o=
Edimid

w1 o wen - va e fEee o @ et @ forn v agfeew whed (x|,

Xoeerenn x ) # wefifm =it & S2=;‘—(—in——)—c) R T WeRYT (population

n-1

variance) &1 FRET Tawe® 2 BR o2 A = B o 21

500 TRaW B TA&W ¥ T8 RAE W g B 340 IRaW wR & &l T&E wdt A
WR W I & 76 T a WRart & forg 90% feararmn siwe it wwa i
A T 95% G BT W ¥ TR ©@ I W T A Raw W
TR A aiad agma%o.oz%mﬁa%ﬁaﬂ%awﬁzﬁ JMER F 27

A B X G99 AR W 2 W (0, A) W @ & A faRka 21 @ s
WA ( moment estimator) A QI

PT.O.
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SECTION III

Q5 IS COMPULSORY. ATTEMPT ANY TWO
QUESTIONS OUT OF Q6, Q7 AND Q8.

| 11

A 5 IFER B W6, M7 UG WS A D

HE 3 WA ' WHifsal

5. What are the two types of errors in hypothesis testing? For a given sample size,

can both errors be simultaneously reduced? Explain with the help of diagram. (5)

qiRerea T 98e (hypothesis testing) ¥ & WER @ Al FiT €@ F7 T Ry w0 whied
FER F forg A IR N v ww ww w1 v 27 w9 gEEA ¥ W

6. (a) A professor believes that a standard deviation of about 13 points on a
hundred point exam indicates that the exam does a good job. He gave an
exam to his class of 31 students. The mean score was 72.7 and standard
deviation was 15.9. Does this exam meet the goodness criterion? Use o =

0.10.

(b) For each of the following pairs of hypothesis indicate if the rules of setting
up hypothesis are followed. If not, give reasons.

() Ho
(i) Ho
i) Ho
v) Ho

v) Ho

n =100
=21

p=12.5
tp> 100

tpn>100

Hl: p <100
Hl: p <21

HIl: p <128
Hl: p =100

Hi: p =100 (5+5)

(%) v Whe w1 fearg 2 6 100 siw R 9ler X w13 SR W e R
& 3 @ 2 Qe st o G 21 99 31 ot @ HFR HE D TH
qden < WA Wrw 727 A UF W AT 15.9 T T qE AL I D
ATV (goodness criterion) T T R 1 o =0.10 =1 WA FACl
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7.

8.

9

(|) Fr=fofem A ¥ "Raeea & v g & fog Shm AR fF = Reeaen

(a)

()

(®)

{2)

O & Ferl & e fen oran 21 gl S @ R aaEu

(1) Ho: p =100 Hl: p <100
(i) Ho: p # 21 Hl: p <21
(i) Ho: p = 12.5 Hl: pn <12.8
(iv) Ho: p > 100 Hi: p = 100
(v) Ho: p > 100 Hl: p =100

A quality inspector picks up 100 masks from the market to note that 14 do
not work as they are unable to filter out air impurities. The manufacturer
claims that only 10% of masks are unable to filter out air impurities. Using
a significance level of 98% can the manufacturer's claim be supported? What
is the p value of your test?

A consultant needs to compare two populations, but he needs to know if the
variances are same for them before he proceeds. He collects samples of size
10 from both populations to get standard deviations of 12.2 and 15.4. Using
a 95% confidence level test for equality of variances in both populations.

(5+5)
T Tora e SR A 100 AEh IST 8 3R I A BT 8 6 I A 14 wew
A T8 T @ ¥ wifn 3 ag A g w1 e w@ A s @) ffera @
<l 2 T Dad 10% e § 9 N Imfedl o Fredet oo F st €1 98% @
FfEa WR 6 9 o o il @ aR @ wed R o e 27 s
AL T p A T 27

T FAEER T 3 TARCA 9 qorl T o Jrazanal 8, faeg 95 T s FA
A 95 98 A A qE ¢ fF w0 I o vawor T 1 98 12.2 3R 15.4 =
wHE e W @ o 3 waftedl ¥ 10 R @ wfaed v
21 95% fram ®R & W T AR GAReal A FERull S GHHGT 1 YRS I

A consultancy firm wants to check if average wages across males and females
are different. They took samples that reveal the following information:

PTO.
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Males Females

Mean = 62.5 Mean = 39.7

Standard deviation = 23.7 Standard devia’;ibn =38.9
Size = 175 Size = 168

(i) Using a 90% confidence level can we argue that there is no difference
in_ wages across males and females? Assume equal population variances.

(i) Can we argue that males earn more than females, using a 98%
confidence level?

(b) The CEO and HR head of a company argue over the no of yearly holidays
taken by employees. The HR head argues that on average employees take
more than 40 holidays in a year. To test this claim a sample of 15 employees
is taken and sample average is found to be 41.17 with standard deviation is
4.71. Test the HR head's claim that employees take more than 40 yearly
holidays ata 0.05 level of significance. (5+5)

(F) T FHAE T a8 Wia wew awdl 2 fF T gen Ik ARt @ 9= staa
iR B €1 2 wided wen w1 ¥ @ FakiiRas 99l wee wQ &

ey wigen

~

A = 625 HEA = 39.7

S foadaT = 237 AME fa9eT = 89

JEHR = 175 JEHR = 168

(i) 90% Torara T T 9aWT FX 41 39 45 T T DA § & @ v AR
& qiafrE ¥ i SR T 1 wiRe waol @ e A AR

{ii) 98% fvara = =1 WAt o N & AT T A G & R qov AR
o A At il o &7

(@) = @ 7= FEE JfEd (CEO) W@ oMl & ek W il g
foe 77 affer srerrrl & Fow ¥ 7 B B IR W W T 2 R s W
A TR ad ¥ 40 ¥ IR JEEm W F1 W @ w0 wlewr Y D B 15
FARA & v gl forn arar 2 w9 wiied @ sted 471 @ T R @
A 4L17 9 T B IR W@ @ 2@ & 9080 S i S 005 @
Hrial T W 40 ¥ 3w Fawms A 2
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